EARAROBEEIERT — 2 N— IBISH —F

201754 H248 (B) 2EI%#1H

IBR &+ S5%C214# C21 ¥5FR—HK (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :180,000 23#%&:42,000 W ~ 33#%:18,000 W  43#&:13,000 @ 5 7 :9,000 M
A % E BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
1 6l NVI—WENT v o4 gﬁﬁs%f? 1:(3_0).2 3-3-3-1 |38.9| — | 3 | 400 ;ﬁg%ﬁi (812)
¥y TTFoby—L BRETNYTHR (+3) KBRS
ol7l 7| 1Fv~Oyx— # 5 ?iél_léﬁﬁﬂ 1:(341).0 55-4-4 [39.3| — | 4 | 462 gg‘it (342)
Rih—b BFAY DY T | Zgms
3lglg|Yav7AL—T fo4 | WTHZ 1(:13/12.; 2-2-2-1 |39.9| — | 5 | 457 ggﬁ;i &2
QFr—3UTL Bia—Fy-— R A
alsls|F-7as5895— H o4 j;szsﬁgﬁ 1:(321).5 8-8-6-6 (39.2| — | 2 | 499 zzgﬁiﬁ(%aé)
RiAfvavhLyy B:T77—ARF1T A i S
5 NS = o4 ;:‘:Z%E% 1:(332).1 4455 |40.2| — | 6 | 479 %(%Z:‘;f}(%ff/_’?‘)wya)
LA 2agR—5— BiAf2adlLy R 0| =xm st
6 o | 712 L i 4 Uﬂﬁ%ﬂﬁ 1:32.9 7-7-8-7 | 40.4| — 8 426 ﬁig)ﬂﬁf (?fé)
: 4 K=o T
R:FLnvwyFit B:7URTF1E—L @ © Slise
d 3 R o4 | BREZ (11:313/.23 -1 420 — | 1 | 469 gggg (1)
RiwvygdyR By L bNy R @0 | N7y
glglg|VAEX/2ED Ho4 5?%’_?65%?1 1:(344).0 6-6-7-8 |41.7| — | 7 | 449 %(E)Ef;_(gf)}v
LRV Ry THY BTV IEXRY | wimns
e EiSED _ - _ — _ _ b
¥ 11| ¥ V¥av1a 4 5 Als%?) ) Z %%g% (1)
R:v2RYJYIIR B:xYZTTN—h M7 7 -4
@ 11— F—EBIBML
12=3zr= 3,9,6,4,7,8,2,5
23|=3r= 3,9,6,4,7,8,2,5
I =7"= 3,9,6,7,4,5,8,2
43 —F— (3,6,9),7,4,5,2,8
[ /N3
-y 6 5504 714K 6-7 870 P & 6-7 2,340M BER 6-7-9 4,560
7 B 6 170 6-9 720 5 = 6-7 2,520 3HEH 6-7-9 27,280
7 230 7-9 890 BE 6-7 3,420M
9 210M

ABICOVWTRDTEEERROODE. TR LIV,




